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ANM(R) & GNM-2012

LIFE SCIENCE (it fwr)

Category-1{0() 1 to M)
(Carry 1 mark cach, Only one ption is correct. Negative marks : - %)
e part of the beain associmed witl; maintuinance of body balance is

(A} Medulla oblongata (B) Cercbellum
(€} Cerchrum (D) Thalnmus
e wre

9 TR SN Wi W ey w we
(A) T medy (B) O
(€} rofaars () e

1 i gascous plant hormuone.

(A) - Auxin (B) Gibberellin
(C)  Ethylene (D) Abscisic Acid
= gl w3 vareE
(A) Wi (B) fer=reiee
(C) Ffuferm (D) ST
Archucopteryx is the missing link between which groups 7
(A)  Aves and Mammalia (B} Reptilin and Aves
(C)  Reptilia and Mammalia (D) Amphibia and Aves
walmsrEiee rem rmENCE w0 T o ¢
(A} T g g (B)  HeHY am 8
(C) T o i (D) Fuwz e nh
I'resence of ozone layer in the atmosphere is very important, hecause il
{A)  provides rmin to earth (B) protects earth from UV rudiation
{C)  protects carth from Dood (13 protects eanh from volcanic eruption

AT SEFTE - 57 BoEfy a2 sy, 2ma T
(A) YwErs 4@ m

() fv@re wferas o =Ts e T e

(C) wfwdr aan rurs 2wl 312

(D) s Sriters rurs o =7

Optic nerve 1s a i
(Al Molor nerve (B)  Spinal nerve

(C) Mixed nerve (D) Sensory nerve
wee T A 450

(A) TEOTEY () ™rEmEm (C) famay (D) A Ty

Which harmane is not secreted from the anenior pituitary gland 7
re TR (G E0TEE Wows 1o R A A g
(A) ACTI () bl
(€} FSH (D) TsH

el L . (e
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10.

11.

12,

Iw ﬂ ? s it [yt ]I:Im}-li:l __{“- x
© T s (D) TREEHEE A
ﬁﬂp Bank is an example of

(A)  Exsitu conservation (B) Biodiversity holspol
(C) In-situ conservation (D) Micropropagation
h’lﬂﬂm LR

(A) % 5§ e (B) EREm w0
(C) %A 5 g (D) TETTAAMTH
Who is the author of the book entitled “Origin of Species™ ?

(A) Gregor Johan Mendel (B) Charles Darwin

{C) I.B. Lamarck (D) Stanley Miller
“Origin of Species” 7AATe Fvara )

(A) TER OTeM Rrse (B) & EtEw

(C) rorfa st (D) =S frem

Which anc of the following is a nitrogen fixing bacteria 7
Frafefusefin w0 reml witgmes fefe wr=nt )

(A)  Azorobacter (B) Psendomonas

(C) Escherichia (D) Myeoplasma

What type of microorganism is Penicillium chrysogenum ?

(A) Harmful bacteria (B) Harmful fungus

(C) Beneficial fungus (D) Beneficial protozoa
Penicillium chrysogenum TH 478 W6 1

(A) wEspTemiw (B) weeuwe

(C) Tradwws (D) B rehTET
The chemical used in cryopreservation is

(A) Liquid oxygen (B) Liquid nitrogen

(C) Liquid carbon dioxide (D) Liquid methane
TR AT RS T o

(A) T SR (B) T MEGTER

(C) o #é4 TESTRS (D) = farem

ANM(R) & GNM-2022 (Shif-2) 4




Pollination by bat is called -

(A) Hydrophily (B) Anemophi
(C) nl'lli‘l‘.hﬁr_ﬂ!ﬂ, ! m} w“q'iﬂy siil W |
ATF WA T SRS O S I = 1
(A) TRTER ®) R |
(C) e (D) wEETSraf
15,  Anther, the male reproductive structure of plant, contains
(A) Sepals (B) Petals
(C) Carpels (D) Pollens
TfErTa w2 w0, TRIMeAS, W E
(A) T® (B) 1%
(C) wdera (D) *mmEy:
16. Which of the following processes is used in rapid raising of new plants from small plant
tissues 7
(A) Hybridization (B) Grafting
(C) Cutting (D) Microprapagation
Gy ram owiors e 3w = (v @ g TgA Sfen i =y
(A) TmEFTFRI (B) TamEwee
(C) =" (D) AT TP
17. The alkaloid obtained from Vinca rosea is
(A) Reserpine (B) Vincristine
(C) Atropine (D) Morphine
Vinea rosea T4 T2 Soiamfd oie W 010 &
(A) T : (B) feefarfon
(C) A (D)

18. In HIV the enzjmc'r:spnnsiblc for production of DNA from RNA is

(A) Transcriptase (B) Helicase

(C) DNA polymerase (D) Reverse ranscriptase ;
HIV TS [0 S¢FH30 RNA TUT¥ DNA Bee 0@ O T8

(A) BrAfEEon

(C) DNA *ferameer

ANM(R) & GNM-2022 (Shifi-2)
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I\

ANM(R) & GNM-2022 (Shift-2) . H

(C)  Albumin (D) Fibrinogen

DNA-2 70 373 w78 wies ool ==

(A) feclis B) yEsRw

(C) e () TEEIES

What is the correct term used 1o describe the complete set of genetic information of an
organism ?

(A} Gene (B) Nucleus

(C) Genome (D) Proteome

et el el Srae wndns fomrs Sermra WS o e s ARne Tu e
(A) fem () Fsfgmm

() feom D) relaw

The three small bones called mallews, incus and stupes are found in which of the following
sense organ ?

(A) Eye (B)  Lar

(C) Nose (1) Tongue

rfenm, B ¢ CORe I v w7 fael Fryfefrs 2 oo rs e o p
(A) &F (1) =

(C) wfxm ) f=m

Asexual reproduction through budding takes place in

afs: vwfore w2 s00H 59 vl

(A) Amocha (B)  Saccharmmycey

(C)  Penicillium (I Bacillus

 — = B 3 e ————



m“ﬂwmhﬂimbmmdhmmﬁ -
(A) Golgi bodies () Nucleus
H:} Ribosome {D} w ol
T e e sfaresIa I el T

(A) sfeifr 7oy (B) frsfzm ’
(C) wlratss (D) ECIETE
27, Which one of the following diseases is ol mosquito-borne ? 22
(A} Dengue () Chikungunya
1) Mlague (1) Malaria
fergfiters ramsfarg s o seeafes v g .
(A) =2 ) Bgmebm ) o (D) e
1. Which one of the following is an endangered species in India 7 T
(A) Spotted deer (H) One-homed thinoceros
(C) Pescock (1) Cheeta
firyfeifrmafira s ran stersa favn amfenm gal ¢ ol
(A) By B) 4% st AE@ :
(C) ¥ () fe
29, Which one of the fullowing is pot a reflex action ?
(A) Coughing () Sweating
(C) Bhinking of eyes (1) Sneczing
fme et of e fem Fu :
(A) =M M) vz
() i GRS ) -
W, The “V'- shaped chromosames seen in the mitotic metaphase are
(A) Acroceniric (B)  Acentric
m i e weefre v'ﬂ!ﬁimmm
(A) SIETHGE (1) wﬁw
(€) TRTHTF (D) TR

e — i R ———



m‘a!crznca
(Carry 3 1, Categoryii (0 3y ¢ 10)
3l ‘.lnumbit W’Pil‘::ﬂ:d:‘iu :!r FHIHIHHI'I'HI-H'W“" s
3 Blucoge Dxldiudtnpmdmt
@) :fmmmm““
2 (B) CQ, (C) H,0, (D) C,H,0H
5. Normg !}'nm'iulﬂuid iS¢ posed of
A Hyalyegr, :
L Yaluronje acid (B) Lubgic
O Acetylehojine el
(D Fibrinogen
""Wﬁmmmﬁmm
(A) mﬁ({ﬁwmﬁ'ﬁ B) #ifm
(C) =
‘“ﬁ"ﬁlhv::ﬁqq (D) =
3, Karyotyping describes
(A) Chromosome Morphology
(B) Chromosome number
(C) Abnurnmlili:s in chromosome
(D) Nucleor; de sequence i chromosome
i mtmaﬂm
(A) Wmmmﬂ (B) mmt’ﬂ'm‘-'ﬂﬂ
(€) Wmmﬁmm (D) Wrmmmﬁ'!@wnm
. Actosome of human Sperm contains
{A) Alkaline Phosphatase (B)  Renin
() Hyaluronidage (D} Acrosin
"iﬁ‘tl'{ﬂﬂ‘ﬂ WTEHWHH'IH
(A) ST vy (B) s
©) TRfimy (D) =
I5. Which of the follow

(A) Lysisof host
(B)  Virus forms
(C)  New viral
(D)} New characte

AR 5T Frgfefia

bacterial cell
a prophage

(B) S1Z1 G3fl torrmey o g
(o Wﬁ?mamaﬁ“

(D) T ARTHERECS 784 Bk

— e
e .

ANM(R) & GNM-2022 (Shift-2)
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ing events oceur durin

particles are synthesized
TS are expressed in host bacterium

9T WG+10fe v 4
(A) U= 0hm e s v

g lysogenic eycle 7

oMl

e .

— —_-_——.—_—n—..—-_-—.___.._ o
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ANM(R) & GNM.2022

36, Domain archaea includes -
(A) Proteobacteria () Cyanobacteria
(€)  Methanogens (DY Halophiles
ETwEA wRRme v e
(A) CrRsarmpfia (B) ARG
() R (D) T

7. Which of the following are non-ionizing radiation ?

(A)  Alpha particles (B) Gamma particles
(C) UV rdiation (D) Microwaves
Fraffvesfin 3y remof 57 STUREfR G 1
(A) T e (B) T
(C) =fees ™ (D) TETEFISTESA

. 38.  Which methods are adopied for ex-sitn conservation ?
(A) Cryopreservation (B) Germplosm bank
(C) Botanical garden (D) Wational park
T4 el «3-FE AW o e 1w
(A) TR (B) wdsEm TR
(C) o= s (D) w8 ST

39.  In which combinations of microorganisms, all are directly involved in Ny-cycle ?

(A)  Azotobacter, Nitrosomonas and Nitrobacter

(BY Escherichia, Nitrosomonas and Thiobacillus

(CY Clostridium, Nitrobacter and Rhizobium

(D) Klebsiella, Rhizobium and Salmonella

B0 @ ST oS 2 FU0 FEGIES BT Y TR I
(AY  Azotebacter, Nitrosomonas G Nitrobacter

(B)  Escherichia, Nitrosomonas @82 Thioboeillus

(C)  Clostridinm, Nitrobacter &2 Rhizobinm

(DY Klehsiella, Rlizobivm S22 Salmonella

40. DKNA is made up of

{A) Pentose sugar (B) Phosphate

(€) Glucose (D} Nitrogenous base
DNA tuefea 93 1S I 9

(A) ToArB e == (B) TAHE

(C) = (D) AT X

rmm —_— - -
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ANM(R) & GNM-2022

PHYSICAL SCIENCE.
Category-1 (Q 41 10 55) Y
(Carry 1 mark each. Only one option ks correct. Negative marks: = %)

41, The three elemenis A, KIS Co® gun be called.

(A) isotopes (B) isobars
(€ isotones (D) isochems
u&r'"-wk*“md,,&*"-a:tﬁaﬁmﬂmwm

(A} SRTWGm (B) AR,
(€) SEewSR (D) SAPTE

4L I moleculur weights of oxygen, hydrogen and sulphur are respectively 32, 2 and 32, then
what is the molecular weight of sulphuric acid ?
m.mﬁltﬂﬁmﬂfﬂ oWy TH eIy 32, 2 ¢ 32 TN OE AAvSES
e W oY T
(A) 49. {B) 98 (C) $2 (D) 66

43. In the following table, select the correct matching between the substances named in first
column and the classification names given in the second column,

|  Substances Clasxificalion

l. | Brine 2 |Misre

2 | Smoke b. | Emulsion
| 3. | Butter c. | Solution
[_4_ Soil d. | Colloid
(A) 1=t 2-d, 3-b, d-a (B)  l-a 2-b, 3¢ 4<d
(C) 1, 2-¢, 3-a, 4-b (D) 1sh, 2-d, 3¢, d.a
B3 HeME oom AW (W Wl A el arm mew = TRgli #fsw Hramwy Ry
1)

= o]

l. |Fem  [a [fim

2, |t b, | ¥R

.| R ¢ H9
b 4. | wh d |wAes
(A) 1, 2, 3-b, 4- (B) l-a, 2-b, 3. 4-d
(C) 14,2 3-a.4-b (D) 1-b, 2, 3-¢. 4-a-

44.  Water bubbles are always spherical in shape, it never tkes any other shape. Which physical
property of water is responsible for this 7

{A) Surface lension (B) Viscosiy

(C) Elasticity (I} Specific gravily

W U7 IR (RS T, S (0 SIATER T A | ST T ST 4 g e ol
(A) EDH. (B) FrEel

(C) ffewme (D) weies ooy

———— i R T
S
e
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4b,

47,

48,

49,

S0,

ANM(R) & GNM-2022

A water pump can (1l 8 $00-Uive warer tank :
POWeEof the puanp (5= 10 ) tnnk kept at 6 m helght in 50 minutes. What In the

mmmmwumm

™ aa® 300 fndry wa grn ofif werd
'ml'hfh-mnm-luwﬂ gt e
(A} 10 Want ) W0Wan () §wan (15 Wil

T 80O calorie of heat |y applicd 1o 10 g o
Bulleent 00,
(A) bt half the iee will mel .

(W) entire ice will become water and then vaporize
() 10 g of water at 10 “C will Temiain

()10 g water at 0 "C will remain

0 °C WITHIE | g TTTE RiK) s mle @i o warn
(A) 0 WTdS Agy o wre

() ™ AT W U Ay vra

(€] 10°C SrTaig () w9 "y uma

(D)0 °C Wy 1 g on e wra

it a note contains four tones of freguencies 256, J000, $12 and 630, which obe is & hurmonie 7

E"'!-I 1l'lm honie af frequency 256 ) The toane of frequency 400

(C)  The tone of freguency §12 Y The tone of Trequency 630

A% @ w256, 400, 512 @ 630 Firwa orel e fals e e e resd 1
(A) 256 3w Yo (1) 400 Sy wald

(€) 512 3wyl (D) 630 wewrey 3ol

The eve lens of a human bady is a

(A} biconeave lens (1) biconvex lens

(L'} plane mumor (D) privin

WA (HTET & (A7 tH wafd

(A) SEAEH A (1) Brsra# e

() *uwa wede (1) frren

Which of the following gnses does mot normally participate in any chemical reaction
(A} Hsdrogen  (B)  Neon (C) Carbondionide (I Methune
et amisfin wnn ra smraas: e el (e wen sy
(A) @S (B e (C) sasEaats (1) e
The acid which s mostly present in ocid rin iy

(A) N acud () Hydmochlone acid

(C)  Sulphuric acid (I Citrle seid

weraTe [y Wi AT 4l s o T

(A) s wrfs (i wtrErafes s

() wwfelfes s (1 G

e ey E——— —_— e m o ——

ANM(R) & GNM-2022 (Shih-2) 1 m A
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55.

8 T8 712 Wy

(A) 1.6m/s, 10m (B) 2.5mis,40m
(C) 32m/s,10m (D) 25mfs,0m
Choose the right answer :

Under special circumstances, a body's

(A) mass and weight both can be zero

(B) mass can be zero, but weight cannot be zero
(C) mass connol be zero, but weight can be zero
(D) neither mass nor weight can be zero

wow Soab Fis =21

farera =fefefers o =7 -

(A) %Y TR - *F TS A

(B) % >[I T[S *MA 3 GO [ ¥S =
(C) &[T M 1 43 wo Fil e “mw
(D) S % gur [T [ &S A =l

A 20 g bullet is fired from a gun. The bullet hits a sandbag with 100 m/s speed and stops
after 10 em into the sand. How much stopping force was applied by the sand ?

q#fl TFE (F 20 g ST 90 TE @S T | TEoL 100 m/s TN ol < e
WS S FIR T 10 cm W08 (100 Taca e ) Etfon Sem wiee ooy == ws ey

(A) 1000N (B) 100N

(C) 200N (D) 500 dyne
Newton is a unit of

(A) mass (B) force

(C) gravitation (D) electric current
‘FEt e g

(A) =9 (B) ¥

(C) sfe=d (D) e w

IR ——— e
e e

ANM(R) & GNM-2022 (Shift-2) 12 - S



ANM(R) & GNM-2022

PHYSICAL SCIENCE

Category-11 (Q 56
{Carry 2 mork cuch, One “-“r:r mfl?u::iﬂmm negative marks)

56, Which ol the following siatements are true about the value of *g" ?

58.

—
s

ANM(R) & GNM-2022 (Shif-2) 13

{A) Ilhm“%lﬁmundﬂﬂ[ﬂ!ufhm
(B) Iis same everywhere on any latitude.

(C) I 15 same everywhere on the equator

(D) Ivis zem ot north angd south poles .

g5 T 3o 5 o e Sfe e e
(A) TR b HEwE g e
(B) TFICT &%/ wwiem e 7w g2 7 7R |
() Frretemm w¥n gn wm owmm

(D) ST S F TR a1 T

A large cotton bale and a small iron piece, both weighs | kg Then find the correct stalcmenis.
(A) MIL‘-S of the cotton bale is actually slightly larger.

(B} Since their weights are same, their masses are also same.

(C) Mass of the iron picce is slightly larger.

(D) Gravitational force acting on the iron piece is larger.

25 faeliel e 71 o = TEG IO GEE, e we | kg | PO RO 0P 9
Efwsfawoe

(A) STACE TLER FHT B AT TS T

(B) [UCEY WY GO FIW, T A SRS HEA |

(C) tEmTE erwibe s wm P )
(D) e DA See vy wieede awe T A |

Two boys start running along o circular track of radius 70 m from same point at speeds 13
m/s and 9 m/s. After what time will they meet each other 7

(A) They will never meet each other.

(B) After 20 sec if they run in opposite directions.

(C) Alfter 65 sec.

(D) After 110 sec if they start running in same direction.

7% 7 70m APIHE 9 TOEE 4GP WU [NF TWHES 13 m/s S 3 m/s O3
TATSTS 5% %5 | TR 0 WEE U gy fafEs A

(A) ST EE FURE GTAE RS TR A

(@) W O GCF S SCOIRCE THRCS O AT BRI 20 sec T |

(C) 65 sec *IF ST O S 2l Ta

(D) Wi wra @@l FrE PSS oF 03 TR0 110 sec *TR |

- -




ANM(R) & GNM-2022
59.  Whena force s applied on & moving ubject,

(A) There is no change in its direction, velocity or acceleration.

(B) Tt may continue to move in the same direction but with a changed speed.
(C) 1t may continue to move Mmsmwmmldiﬂmm
(D) It may start moving in opposite direction,

T et g Svice < oo s,

(A) Tgie wfEvies, o o Qe rare ofrds T A

(B) =% oot sfogx foy e ofers rars wrare MR

(C) % 3% ofers firg feafifs sfoume sers wars MR

(D) 2y SO 5o ow s e |

60. 1) of work is done when

(A)' A force on a static mass of | kg gives it an accelerntion of 1 m/s? in its direction and
moves it through a distance of | m.

(B) A force of 1 kg muves a static object by 1 m.

(C) A force on 2 static mass of 100 g gives il an acceleration of 1 m/s? in its direction and
moves it through a distance of 10 m.

(D) A force of 1| N moves a static object through a distance of 1 m in iits direction.
| & =) Foom T U,

(A) ﬂﬁm:hgﬁmﬁﬂﬁam&m@ﬁmlmﬁﬁmq&mmw
| mAROEY

(B) &= M | kg SF7 3B iz w2 | m AR 30 |

(C) %0 3 100 g W72 96 12 2 & =70 PN | vs? @ o ww e e
10m FETER|

(D) 1 NI a3 A guh @ w0 m TR Iw

L

———— e e
————— — — -1 ——— e s L
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65,

66,

b7,

e e i

ANM(R) & GNM-2022

ENGLISH
: Category-1(Q 61 10 7%)
(Carry | mark each, Only ont option Is correct, Negalive marks ;- %)

Elmm:ﬂtﬁwd.whi:ﬁmmmlnpmmim!yrepimﬂu italicized words in the given
senlence ;

Primitive tales mainly comprised stories of old-time gods and heroes.

(A) ode (B) legend

1C) epic (D) allegory

C‘rm:w the most effective word 1o fill in the blank 1o make the sentence meaningfully
complete :

Those who have well their transition from village life 1o city life have prospered.
{A) managed (B) taken

(€} tned (D) [linalised

Observe the two italicized words in the following two sentences and give your observation
by choosing any ane option below :
- Anvole of censur was passed against the Chairman.
Il.  Every film needs a clearance from the Censor Board.
(A)  Only sentence-l is correct,
(B} Only sentence-11 is correct.
(C) Both sentences | and 11 are comect,
(D) Neither semence [ nor sentence 11 is correct.

Choose the must effective word to fill in the blank 1o make the sentence meaningfully
complete :

Ashok had 10 drop his plan of going to the picnic as he had cenain lo keep during
that period.

(A) urgencies (B) preparations

(C) commiiments (I amangemenis

Fill in the blank with the most appropriate word! group of words to make the sentence
meaningfully complete :

| shall not join ___ youneed me.
(A} ifnot (B) if
(C) whether (D) unless

Fill in the hlank with the most appropriate word! group of words to make the senlence
meaningiully complete :

His statement 1s replete contradictions.
{A) in (B) of
{C) by (D) with

Find out which part of the sentence has an error :

The blinds i deserve  our sympathy Fﬂnd cooperation
(A) (B) (C} (D) ;

— - ma i i iy Tt . 5 Wi

ANM(R) & GNM-2022 (Shif-2) 15 ﬁ A
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1.

T,

15,

He said, “Where shall 1 be this time next year!”

(A)  He asked that where should he be that time next year.
(B)  He wondered where he would be that time the following year.
(C) Hl:vmudnmd“tmhnlmuubelhnm the next year.

(D) He contemplated where shall he be that time the following year,
Choose the alternative which best expresses the meaning of the idiom / phrase / proverh
given in italics in the following sentence :

| take exceprion ta Your remark.
(A)  sccept gladly
(C)" will consider carefully

(B) object 1o

(D) am thankful for

Choose the altemative which best expresses the meaning of the idjom / phrase / proverh
given in ifalics in the following sentence

I feel very pur our about yesterday's inciden,

(A) pleased (B) fearful

(€) disturbed (D) overjoyed

(A) Aprecable
(C) Stubbom (D) Useful

Choose the word, which is Opposite in meaning 1o FICKLE.
(A) Tasty (B) Quick

(€) Constant (D) Healthy
Choose the word that can replace both the words in
I The document was declared void,

I Tfelt pity for the sickly person,

(A) Useless (B) Defective
(C) Invalid (D) Weak

lmlinsinm:mugivmﬂ!mum'

-

[ T pe—
ANMIB) & CNAE YRS (O IR % '
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MATHEMATICS
Category-1(Q 76 10 85)
(Carry 1 mark each. Only one option Is correet, Negative marks : = %)

76, A reservoir can be filled with water by two tups. The first tap only needs 10 minutes to fill

.

the Lap and the second tap only needs 15 minutes, At first the reservoir i half filled
: by the
second tap only and then the first tap is also opened. How much time in total was needed 1o

fill the reservoir 7

¥R YIS 7l o1 Firw wen w1 20w | @Y st A e e oo ware 10 6
o w9y W8y 5ol amr wew 15 fafs0 wmo | sorw oy Rdte 5=® wmem =ow
e e S S ¥ w1 v S srew e o g | (PSR RS s OB
¥ Y A 7

{A) 6mn (B) 3Imin
(C) 10% min, D) 7% min.

The diameter of a circular park is 35 m. How much time it will tuke to run once around the
park ut a speed of 110 cmi/sec 7

%% JIET ST AV 35 BRI 110 cm/sec 01 & WET 5RATE SFTE (RIS SOCE
T8 T AHA Y

(A} 100 sec, (B) 200 sec.

(C) 2sec. (D) 50 sec.

Number af students in iwo schools are same. But the ratio of the number of male students to

the number of female students are 9:10 in one school and 10:9 in the other school, What is

the ratio of the number of male students to the number of female students of the two schools

token together 7

srmert 7S Wi wa-wrd it Ao U g wm o el woa were gw e 9.10 @

TS 10:9 T 55§ e v o Wl A wepers ¥

(A) 9:10 (B) 10:9

(C) 10:11 (D) Lkl

A co-operative bank offers compound interest at 5% in 17 year and at 4% in 2 year. If a
certain amount of money becomes ¥ 2184 in 2 years, what is principal amount ?

(A) T 1900 (B) T 1950 (C) 2000 (D) T2500

G Ay A o TeTE 5% @ W TR 4% el e o e | fey O o 2 W
IH-IACA 2184 BT T, SIAA TR T w

(A) 19000 (B) 19500@™  (C) 20008 (D) 25000

e

ANAEITIL B Rt 3699 (il ¥ 19 m A
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For what principal senoun the difference between simple (nterest st 4% and compound
inerest al 4% will be € 110 1n 2 years *

(A) P ) Teaon 0y TR0 (D) Cerrsg
thlmmmmmimmwﬁ!ﬂ'ﬂmhmr
(A) 60000 OT% (W) kOO0 O (1) A2 O () 68750 e

B The surface ares of the base of & cylindrcal vessel s 154 m? and its lateral surface ures iy
308 m”. Then height of cylindrical vessels is

(A) Tm B dm €) Am M Im
% mYyEa At 36 reane (s e g T teama 1oy affatn v,
Tl By sy

(A) 7t (B) 14 ftm iy 21 el iy 275ty
L h |rhl|h-j[;t—11-1']'|ng 4, then
y & :

L] log —I[-:.d-iq-z]:luu iy 4 WY, EETA
w r T L]

{A) x=y (H) xwy
(C) x>y D) z<y

LR lf-lj.-s—lnlﬂﬂ-]wt,lhmlnmﬁ' ¥ ).
q=r r-p p-q .

ﬁ?:—.lrmihj'_:“‘mtﬂluglﬂ' }'4 M=
=t 1-p p-

(A) log 42 (B 0
(C) log2 (M logl

8. The difference between two positive whole numbers is 3 and the sum of their squares 1s 1T
find the two numbers
Eﬂﬂiﬂ'mii:mﬁﬂi-‘m'&matﬁmm:ﬂﬁ:#nﬁﬁ'wr
(A) 9.6 (H) 12,15
(C) 81,84 (D) 19,2

BS. At what mte of simple interest, T 5000 vields an interest of T 4800 in cight years ?
6 729 A2 W = T S0 G W0 AT AW 4800 Gran Lic
(A) 6% B 12% (C) 18% (D) 9oy

e — —— e e o
B e
— e o
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GENEHAL KNOWLEDGE

Category-1 () K6 10 ¥5)
(Carry 1 mark ench. Only one option s correct, Negative marka ; - ¥4)

which ts the most populiated city in the warld 7

" (A) New York (B) Deijing :
(€) Mumbai (D) Tokyo
AT WARY wEY WD 1
(A) fSET (B) afme
() Yve () ofern

Who is the first Indian 10 receive Nobel prize 7

' (A} Jawaharial Nehru (B} C V Raman
(C)  Dr. Amartya Sen (D) Rabindranath Tagore

w{9% [F1H SALTE [FCa [EWE I 1
(A) WETA AT (By frfs=m
() S W] (D) TAHEIN AFe
g8, Lakshadweep is located in
(B) Pocific Ocean

iA]  Atlannic Ocean

(C) Bay of Bengal ([)) Arabian Sca

Areay s
(A) EEEOw TIHR () =0 VETeTE
(C) TR (D) S= AT

k9, Wha is the pioneer of (he theory of relativity 7
(B) Albert Einsiein

(Al Thomas Alva Edison
(D) Jumes Watt

(C) Marcon

fasfa sy G0 (wrefeee ) oTEs I

(A) B wes & (B) S0 WEAAEES
i) W (D) =W GG '
90, Who among the following has become the fourth Indian to win a Grand Slam ?

(A) Sania Mirza (B) Rohan Bopanna

(C) Mahesh Bhupati (D) Leander Pocs

firpe T sod SN ansy favre

(A) e el (B) TAvE 3= :

(C) Wz g (D) msE™ e
19 ﬁ A

ANREDG B R A0 iC kil ¥



(€)  the first Muslim Preskdent of ndin
(D) fiest Presiident of Tidian Nationul Congresy
W TR o e

(A) STRTST 9% Sradwis (1Y) roiwnste s =N
(C) wrevsa o yfine qefis (1) wraBve wily seiyeng un Asefs

The famous book *Anandamitly wirs sithired by .
(A} Sarojini Naidu (1) Wankam Cladrn Chottopadliyay
(€Y Sri Anrobindo () Rablndrannth Vigore

fnere “arrwad' Sl avon srafers.

(A) ol aty (e seng

() M oaglay (D) e i

Pagram airbase, which was vecently in news, 4 located in which cotmtry

(A) Pakistan (%) Afghnnivun

() lran (D) lidia

e At e e astans (e tonefd g et wafips ¢

(A)  wa=we ()

(C) Tam. (D) s

Which are the two houses of Indian Parllament

(A) Bidhan Sobha and Lok Sabia (1) Rapya Subba s Lok Sablia
(C) Ragyva Sabha and Bidban Paosad (1) Lok Sibha and Supreme Count
EEEY wmATIr e wf st A 8y

(A)  fawrs onst o e e (1) Qo] (e g (e st

(C) e e g Jas o (1) rom vs) o 98y e

ANMURY & GNM-2022 (Shif-2) M E A



97,

9.

100

4 B
5 UUCS 1L LI 4L
b SR A - - :
(s
"
! - b N
A .
AT A :
) s
¥

Find the odd one out.

(A) Pen (B) Pook

C) Peneil (D) Note book

Find the right option below where the two given words have the ssme relationship as,

‘CARPENTER - SAW'

(A) Garden — Flower (B) Sky - Rainbow
(C)  Soldier - Gun (D) River - Boat.,
Choose the nght option o 1l in the blank :
PAW : DOG @ HOOF ; 7
{A) Tecth, (B) Claw
(C) Elephamt (D) Horse
Select the right option that will replace the question mark and continue the patier.
-— F——t e L
=L = T = F= T 4+ =5 9
e «— - L B |
“Choose the right option, |'I
- *
= - | : q
Y = (8) ar
—— -
B >
(C) (D)
I e
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